‘O’ LEVEL (August 2022)
M1-R-5: INFORMATION TECHNOLOGY TOOLS
AND NETWORK BASICS

SET-02
Time Allowed: 3 Hrs Maximum Marks: 100

1. fafaRad o 9 ®H forT Set Sodisie ol § ?
(A) Apache Hadoop

(B) Apache Spark

(C) Apache Kafka

(D) Apache Pytorch

Which of the following is not Big Data Technologies?
(A). Apache Hadoop

(B)Apache Spark

(C) Apache Kafka

(D) Apache Pytorch

Ans. (D)

2.1 S AR F, TRE ! TSEHY H & [y &1 IYANT [T STl 5 |

(A) Ctrl+Shift+F5

(B)Ctrl + Shift +V

(C) Ctrl+Shift+B



(D) Ctrl + Shift + F1

In LibreOffice Writer, key is used for subscript the text.
(A) Ctrl+Shift+F5

(B) Ctrl+Shift+V

(C) Ctrl + Shift + B

(D) Ctrl+Shift+F1

Ans. (C)

3.99 g9 Bid =0 H t BT o 3.

(A) GUTSR

(8) JUISR

(C) IR

(D) Z3RT

A Web address is also called as :
(A) ULR

(B). UPR

(C) URIL

(D) URL

Ans. (D)

4. Didrs & HIEH Y fob el Brgd &1 A1 dga & o fd e ol o1 UaiT o
ST g ?



(A) F1

(B) F2

(C) F3

(D) F4

Which function key is used to change the name of any file through the keyboard?
(A) F1

(B) F2

(C) F3

(D) F4

Ans. (B)

5.forsl SHTth e W | 'SHBIHCS CRE' o oy FTdhe Hoil AT G ?
(A) Ctrl + Shift + V

(B) Ctrl + Shift + Alt+ O

(C) Ctrl + Alt + Shift +V

(D)TS &

What is the shortcut key in LibreOffice Impress for 'Unformatted Text'?
(A) Ctrl + Shift + vV

(C) Ctrl + Alt + Shift+V

(B) Ctrl + Shift + Alt + O

(D)None



Ans. (C)

6.0 YhR P1 dI3MR dIdraR vl oy [awdi &1 aRafde GRa= ¥ 2T U 3 gYdh
ERISISIE

(A) 3G
(c) IR-gARG
(B) 31el-3HRYq
(D) Gafdd

A type of VR environment in which subjects are visually isolated from the real

environment.

(A) Immersive

(C) Non immersive

(B) Semi immersive

(D) Augmented

Ans. (A)

7. [Tt SHifth Y e § U Hh e I YEBAT®.
NELEIS

(B) =

(C) R
(D) %

In LibreOffice Calc, a function should start with



(A) Alphabet

(B)=

(C) Number

(D) %

Ans. (B)

8. forst 31T e W BTHAT TR 81 R &1 91 forg fawrs 2 g »
(A) @

(B) #

(C) S

(D) &

Which sign is visible when there is a Formula Error in LibreOffice Calc ?
(A) @

(B) #

(C) S

(D) &

Ans. (B)

o.feTsl HThE IR & e ST fg Ag # e g 2

(A) T

(B) &L

(C) Widd




(D) ST

In LibreOffice Writer, Ruler option is found in which menu?
(A) Tools

(B)View

(C) File

(D) Insert

Ans. (D)

g.%@%ﬁ%ﬂﬁ@ﬁ%@{ﬁ%%ﬂ%ﬁﬁﬂﬁwmw
?

(A) RGB, CMYL

(B) RGB, CMYK

(C) RGB, RMYK

(D) TTH Y BIS T8

Which two options in LibreOffice are used to specify color?
(A) RGB, CMYL

(B) RGB. CMYK

(C) RGB, RMYK

(D) None of this

Ans. (B)

11. {ISIST 31Ty & 1T 9 Ul ! flic A o forT fbd Qe Pl B
SUGNT fobaT STl 2




(A) Command+P

(C) Caps+P

(B) Ctrl+P

(D) SIS H & B g1

Which shortcut key is used to print the web page for Windows OS?
(A) Command+P

(C) Caps+P

(B) Ctrl P

(D) None of the above

Ans. (B)

12. Fafafiad o 9 o forst 3ifthd Iger & Wed IR H HivG el 6 2
(A) PHR DT TH

(B) I8 He

()t

(D) SWIe | Y Pl g1

Which of the following is not present in the status bar of LibreOffice
Writer?

(A) Name of Computer
(C) Character

(B) Page Number

(D) None of the above

Ans. (A)



13. 9 T ¥ &9 TP cad cardion el § 2

(A) 99 ISl

(B) F&31 ergiarsi

(C) Ut ¢ Uit erdraioit

(D) R crardrsil

Which of the following is not a Network Topology?
(A) Bus Topology

(B) Ring Topology

(C) PC to PC Topology

(D) Star Topology
Ans.(C)

14, AN QI BT YU IR -
(A) $eXE MEIPIA Tgd

(B) Sx-IC UlAIZsR Ugd

(C) RTT UCTPId T

(D) ITH ¥ SIS Tl

IP address stands for:

(A) Internet Protocol address
(B) Internet Provider address

(C) Intranet Protocol address



(D) None of the mentioned

Ans. (A)

15. F19 O ¥ B 91 9] i URAT Hedd | SUTRT gl ®i il & 2
(A) PRI

(B) AIsH

(C) fiic}

(D) had

Which of the following items is not used in Local Area Networks (LANS)?

(A) Computer
(B) Modem
(C) Printer
(D) Cable
Ans. (B)

16. HCX BT YUY FafifEd geal A a8 6 -
(A) U e 3R U. T g,

(B) TR e d 3R Yfeihe™

(C) 1 3R = AHRY

(D) BTS f&%p iR wardl g3

The CPU of a computer is made up of the following components:

(A) Control Unit and ALU



(B) Operating System and Application
(C) ROM and Main Memory

(D) Hard Disk and Floppy Drive

Ans. (A)

17. 3T WRfera & Fifes

(A) TE T TR & T 31T 2
(B) T 1A g1 fhdT ST Tl

(C) STF HAT 3 §

(D) 374 ¥ PI% &1

OTP is safe because

(A) It is different for every access

(B) It cannot be shared

(C) It is easy to generate

(D) None of the above

Ans. (A)

18. forsl I # WIs®T SR BIAICT o ol Ycdhe ol R | 2.
(A) F11

(B) F6

(C) F12

(D) F9

What is the shortcut key for Styles and Formatting in LibreOffice?



(A) F11
(B) F6
(C) F12
(D) F9
Ans.(A)

g.ﬁ@w‘ﬁﬁn‘ﬂelsceﬁwsm TR BT IYINT cHcie & fofu fosar ST

(A) .xIx

(B) .txt
(C) .doc
(D) .ott

file extension is used for template in LibreOffice Writer.
(A) .xIx

(B) .txt

(C) .doc

(D) ott

Ans. (D)

20. fors! SHTth T e o —gAqH S AT § 2

(A) 5%

(B) 20%

(C) 15%




(D) 25%

What is the minimum zoom in LibreOffice Calc ?
(A) 5%

(B) 20%

(C) 15%

(D) 25%

Ans. (B)

21. sl SHiftee # <aH 3R Sifdmdd fSWice Bl MTHR T | 2
(A) 9,96

(B) 6, 69

(C) 7,72

(D) 11,96

What is the minimum and maximum default font size in the LibreOffice?
(A) 9,96

(B) 6, 69

(C) 7,72

(D) 11,96

Ans. (A)

22. qof ®p 1A o forg forel Siffth &1 Qicape doll |8 2

(A) Ctrl + Shift + J

(B) Ctrl + Shift + K



(C) Shift + |

(D) ®TS T&l

What is the shortcut key to full screen LibreOffice?
(A) Ctrl + Shift + j

(B) Ctrl + Shift + K

(C) Shift + |

(D) None

Ans. (A)

23. AR W 3HA H M1ER fhd WM R fearg &d § 2
(A) 3id §

(B) 3™ H

OEIEE]

(D) SWRIad H I D5 ol

Usually signature appears at which place in email?
(A) At the end

(B) In beginning

(C) In middle

(D) None of the above

Ans. (A)

24. [ oA beb T oW AHHI GRIATA B

(A) TR S



(B) Ff3d degl 1 ¢y
(C) GXITASIIHRUT P HH]
(D) BIHal H 3fRey

Is the most common limitation in LibreOffice Calc.

(A) Error-checking

(B)The trap of fixed values

(C) Lack of documentation

(D) Operators in formulas

Ans. (B)

25. ot SiTTth Y ST & URC 3BIHCS CRS Bt RTche Poil R g 2
(A) Ctrl + Shift + Alt + V

(B) Ctrl + Shift + V

(C)Ctrl+V

(D) 379 ¥ Pis &1

What is the shortcut key in LibreOffice Impress for 'Paste Unformatted
Text'?

(A) Ctrl + Shift + Alt + V
(B) Ctrl + Shift + V.

(C) Ctrl+V

(D) None of these

Ans. (A)

26. 3RUA HI 0T ©U G :




(A) IHAHIH AU bR

(B) TthIH RE dldhex

(C) FTpTH A Teh =

(D) IAHIH RN drex

URL Stands for :

(A) Uniform Roll Locator

(B) Uniform Resource Locator
(D) Uniform Resource Loader
(C) Uniform Resource Location
Ans. (B)

27. fors 3iftp g SR & Uep Wiiss H Siffiha fohas o SIS & ¥ebd & 2
(A) 4

(B) 2

(C) 10

(D) 6

What is the maximum number of views can be added to a slide in
LibreOffice Impress?

(A) 4
(B) 2
(C) 10
(D) 6
Ans. (C)



28. fTsl 3i1Tthy Xgex | Pedlc Hal RUd § ?

(A) U8 & g B

(B) US & XMW H

(C) Y8 & §ld H

(D) I8 & =it

Where FootNote is Located in LibreOffice Writer?
(A) Header of Page

(B) Top of page

(C) Middle of Page

(D) Bottom of Page

Ans. (D)

29. fosl Sfifthy AR o T T U& gefad SR dics HHiS Y
SITd § |

(A) BIHC

(B)

(C) ¢

(D) 3¢

An italic and bold commands are found in Writer. menu in the
LibreOffice

(A) Format
(B) View



(C) Tools

(D) Insert

Ans. (A)

30. foTst Ity AL H el YR & US NRUCTH BT I HY ?
(A) Tige

(B) WIS

(C) deTpy

(D) Ulee 3R ey gl

Select the correct type of page orientation in LibreOffice Writer?

(A) Portrait

(B) Slide

(C) Landscape

(D) Both Portrait and Landscape
Ans. (D)

31. I 9T Uh YhR BT hd gl § ?
(A) AFITA® Hod
(B) BIRfSIS Hrid

(C) ThIC Hd

(D) HISH! Hd
Which one not a type of kernel ?

(A) Monolithic kernel



(B) Hybrid kernel

(C) Scott kernel

(D) Micro kernel

Ans. (C)

32. ot SiTfth e & Tl 1 TUfge HRA o forg HF 41 fadbed Iuas § 2
(A) 94 HRfSHT dR1e Bis

GRUESEREEREIS

(C) dIs IR B8

(D) S8 A IS Tl

Which option is available for editing the macros in LibreOffice?

(A) Save original Basic code

(C) Load Basic code

(B) Executable code

(D) None of this

Ans. (D)

33. forsl 3iTfthg H geR M B BT Fel fdbed HH A3 2
(A) BT - TSR

(B) TfSe &R

(C) & BN

(D) T &SN

Which is the correct option to insert header in LibreOffice?



(A) Format-header
(B) Edit-header
(C) View-header
(D) Insert — header

Ans. (D)
34. FE T 9 ®H & 3Yc fearzy a8l § ?
(A) TTUS

(B) HISY

(C) HIfFeR

(D) TR

Which of the following is not an input device?
(A) Touch Pad

(B) Mouse

(C) Monitor

(D) Scanner

Ans. (C)

35. foag STRfET RRer w1 qa ©
(A) Td

(B) i

(C) R

(D) HHIS



The core of linux operating system is
(A) Kernel

(B) Terminal

(C) Shell

(D) Command

Ans. (A)

36. forst 3iifthd Wgex d 9 & ¥ 11 1 fEWiee Wi $MHR § 2
(A) 8

(B) 10

(C) 14

(D) 12

Which of the following default font size in LibreOffice Writer?
(A) 8

(B) 10

(C) 14

(D) 12

Ans. (D)

37. BfST-1 BT ITANT ®HrA & folu WTcahe ol T BRI 2

(A) Ctrl + 4

(B) Ctrl + 2

(C) Ctrl + 3



(D) Ctrl + 1

What will be the shortcut key to use Heading-1 ?
(A) Ctrl + 4

(B) Ctrl + 2

(C) Ctrl +3

(D) Ctrl+1

Ans. (D)

38. is the value of round (175,-2) ?

(A) 200

(B) 100

(C)0

(D) None of these

Ans. (A)

39. 19 & O frg MR 8§ SRR e Wt ¢ 2
(A) /bin/

(B) /root/

(C) /dev/

(D) /etc/

Which of the following directories contains the configuration files?
/bin/

(B) /root/

(C) /dev/



(D) /etc/

Ans. (D)

40. TH Y THR & Sl DI [T ST FHgl AT g 2
(A) TITT STSC

(B) HT S1$C

(C) HeraTse

(D) UeTaTsT

Which size of data is called as Big Data ?

(A) Giga byte

(B) Mega byte

(C) Meta byte

(D) Peta byte

Ans. (D)

41. forsl 3ifthy Wgex ¥ Ad Aol fod AL H U1 oI @ 2

(A) BT
(B) $C
(C) T
(D) &

In LibreOffice Writer, the mail merge is found in which menu?
(A) File
(B) Insert



(C) Tools

(D) View

Ans. (B)

42 SIS HTITNT & fou Iuan vl 3
(A) TERAY 2T 3idR0T & forg fpam e 2

(B) ARG Feic BRI OTID! 3T BT ATSH / 3R ST HolH 3R
USRS

(C) 3TTHc IR & fore I fohar STl |
(D) Fad @i TR P forw IugiT faa wiran §

Broadband is used for:

(A) Wireless data transfer

(B) The actual internet connection that your modem/router uses to send
and receive data

(C) Is used for intranet communication

(D) Is used only for voice communication

Ans. (B)

43. Calc TSI HI Y HA & AU BRI TR AT 6 ?
(A) .ods

(B) .odl

(C) .xIx

(D) .odc

What is the file extension to save Calc spreadsheet?



(A) .ods
(B) odl

(C) .xIx
(D) .odc
Ans. (A)

44.%@%ﬁ,ﬁ9ﬁ@ﬁﬁﬁﬁ@3&ﬂfﬂﬁ?$wﬁmm
ST & 2

(A) BY

(B) Calc

(C) e

(D) HEIHAZS JIFeaX

In LibreOffice, Which of the following is used as Spreadsheet Software?

Math

(B) Calc

(C) Writer

(D) Customized software

Ans. (B)

45, TSI B1 Ugell TS B! Y fod A1 I I § 2
(A) BH W3S

(B) B Xdlgs

(ORILERSIES




(D) ®TS Tl

By what name do you know the first slide in the presentation?
(A) Home Slide

(B) Main Slide

(C) Title Slide

(D) None

Ans. (C)

46. TH. T. T, & &G § S STl B:
(A) HeIifere 3iid Aedd

(B) Helulfere TRAT Aeafdh

(C) AeY U Feadh

(D) Heluifere TRam Hedd

MAN known as:

(A) Metropolitan All Network

(B) Metropolitan Area Networking
(C) Metro Area Network

(D) Metropolitan Area Network
Ans. (D)

47. T SHifthy e o fIHAH SH U= 4T § 2
(A) 100% (B) 600%

(C) 400%



(D) 800%

maximum zoom percentage possible in LibreOffice Writer?
(A) 100%

(B) 600%

(C) 400%

(D) 800%

Ans. (B)

48. I U T fSfoTed Y Siarur &t Al 78T § 2
(A) UP

(B) NFET

(C) RTGS

(D) IMPS

Which one is not the method of Digital Payment Transfer?
(A) UP

(B) NFET

(C) RTGS

(D) IMPS

Ans. (B)

49. frst 3P Feeb B BHaT fbd Uciies T [ BT § 2
(A) $

(B) @



(C) =
(D) SWRIFd H T PI5 Aol

A formula start with which symbol in LibreOffice Calc ?

(A)$

(B) @

(C) =

(D). None of the above

Ans. (C)

50. HEX Hedd & ol DR DI TI BN
(A) Td. T U

(B) UH. W. U

(C) ¥, U. T.

(D) SWRIad gt

Select the correct type of Computer Network:

LAN

MAAL

(C) WAN

(D) All the mentioned

Ans. (D)

51. forst 3fiftpe Tger © b A @A § 2
(A) 11



(B) 13

(C)8

(D) 10

How many menus are found in LibreOffice Writer?
(A) 14

(B) 13

(C) 8

(D) 10

Ans. (A)

52. foret 3HTfthY gex | adHl ofid & g, AR ol BT IUANT
ERIEISIE]

(A) Ctrl + F7
(B) Shift+F2
(C) F7
(D) F2
function key is used for spell check in LibreOffice Writer.
(A) Ctrl+F7
(B) Shift+F2
(C) F7
(D) F2
Ans. (C)
53. FEfRad 7 ¥ & fore Hifthd gge &1 U 9cd el § 2




(A) 99

(B) ”IQR

(C) 3819

(D) THITRY

Which of the following is not a component of the LibreOffice suite?
(A) Base

(B) Writer

(C) Impress

(D) Explorer

Ans. (D)

54, FofaRad & 9§ &1 91 Teae e s oifftew & Hefera 78t § 2
(A) .odt

(B) ods

(C).odp

(D).rtf

Which of the following extensions is not related to the LibreOffice?
(A).odt

(B) ods

(C) odp

(D) .rtf

Ans. (D)



55. Yol 3% Aol U0 I ;
(A) feex

(B) fefass

(C) caitarH

(D) XCUH

Choose the correct Instant Messaging app:
(A) Twitter

(B) LinkedIn

(C) Telegram

(D) Instagram

Ans. (C)

56. folaT TR Riiew & wIgal & M & ot {6y HHiS BT START
T ST g 2

(A) delete

(B) rm
(C) dm
(D) erase

Which command is used for removing files in the Linux operating
system?

(A) delete
(B) rm
(C) dm



(D) erase

Ans. (B)

57. fa- Weeiicd f&Wice ¥4 ¥ 74T Calc S § ?
(A) 3

(B) 4

€)1

(D) 2

How many spreadsheets create new Calc by default?
(A) 3

(B) 4

€)1

(D) 2

Ans. (C)

58. 3MY T W5s H AfYbdH fha- T SIS Tohd & ?
(A) 3

(B) 2

(C)5

(D) 10

What is the maximum number of views you can add to a slide ?
(A) 3

(B) 2



(C)5

(D) 10

Ans. (D)

59. SAlho & § ?

(A) TH UHR DI fhpid

(B) ThR ¢ HiTR Jegd R Us faaid aer
(C) T dbalphd oo

(D) U Hal
What is Blockchain ?

(A) A type of cryptocurrency

(B) A distributed ledger on a peer to peer network

(C) A centralized ledger

(D) A Currency

Ans. (B)

60. forst 3iifthw o fife S@NT Wi &1 Wcde Hoil FT 5
(A) Ctrl+G

(B) Ctrl+A

(C) Ctrl+P

(D) Ctrl+D

What is the shortcut key to Open the Print dialog in LibreOffice?
(A) CtrlI+G



(B) Ctrl+A

(C) Ctrl+P

(D) Ctrl+D

Ans. (C)

61. foIs SHTfthe H de B & fole Wicde Hoil T g ?
(A) Ctrl + C

(B) Ctrl + X

(C) Ctrl + K

(D) Shift + X

What is the shortcut key to cut in LibreOffice?
(A) Ctrl + C

(B) Ctrl + X

(C) Ctrl + K

(D) Shift + X

Ans. (B)

62. dd TSGR I Fg! ATH TH:
(A) T

(B) ATg

(C) SiHe

(D) 3T

Choose the correct name of Web browser:



(A) Google
(B) Yahoo
(C) Gmaill
(D) Opera
Ans. (D)

63. foIe ey # Wit Td & SN B! Wi & (o8 [y ol BT SUANT
frar S 8 2

(A) Ctrl+L

(B) Ctrl+Shift+1

(C) Ctrl+t

(D) Ctrl+1

Which key is used to open the Format Cells dialog in LibreOffice ?
(A) Ctrl+L

(B) Ctrl+Shift+1

(C) Ctrl+t

(D) Ctrl+1

Ans. (D)

64. forsl 311Tth Y S | dIferesT AT B & oY foog icae font ol
ST faT STt @ 2

(A) Ctrl + F11
(B) Ctrl+F12
(C) Ctrl + F10



(D) Ctrl+F9

Which shortcut key is used for inserting table in LibreOffice Writer?
(A) Ctrl + F11

(B) Ctrl+F12

(C) Ctrl + F10

(D) Ctrl+F9

Ans. (B)

65. fFgfeied & ¥ &F I U Y fAUSH TR & 2
(A) #DIV/O!

(B) #DIV/0

(C) #D/0!

(D) #DI/0!

Which one of the following is zero division error?
(A) #DIV/0!

(B) #DIV/A

(C) #D/O!

(D) #DI/O!

Ans. (B)

66. FfalRad & T o9 T/ TS URMINH Alsd 8/87?

(A) UlsTh T3S

(B) UT3dT HI3S




(ONEESESIRE

(D) STRIad gt

Which of the following is/are the cloud deployment models ?
(A) Public Cloud

(B) Private Cloud

(C) Hybrid Cloud

(D) All of the above

Ans. (D)

67. faTsl SHTth Y S0 &1 BISd TRICIH 1§ 2

(A) ott

(B) odt

(C) .ods

(D) odp

What is the file extension of LibreOffice Impress ?
(A) ott

(B) .odt

(C) .ods

(D) odp

Ans. (D)

68.TTR AT 3R ATRIET Rizer fordds IR0 8-
(A) fEarss grsaw



(B) Rier IiteaR
(C) URTH T TroeaR
(D) PCHZS HFed

Communication software and operating system are examples of:

(A) Device drivers

(B) System software

(C) Application software
(D) Customized software
Ans. (B)

69. TR D18 BT 3 7 :
A s g o

B) fooap AfeiT Ble

(C) PTsc R B

(D) 379 T P13 el

QR code means :

(A) Quick Response Code
(B) Quick Rolling Code
(C) Quite Response Code
(D) None of the above
Ans. (A)

70. forst 3iifthw o fife tieg Wie o Qg fooe gt T SUANT fohdT STTaT § 2



(A) Ctrl+Shift+S

(B) Ctrl + Shift + O

(C) Ctrl + Shift + T

(D) Ctrl + Shift + X

Which key is used to open Print Preview in LibreOffice?
(A) Ctrl+Shift+S

(B) Ctrl+Shift+O

(C) Ctrl + Shift + T

(D) Ctrl + Shift + X

Ans. (B)

71. fersl ity g | fethiee Wigd =H gl

GOEISERIES
(B) AHACISCS
(C) L WIrd
(D) SWRIe | Y Pl g1
is the default file name in LibreOffice Writer.
(A) OdT file
(B) Untitled
(C) New file
(D) None of the above

Ans. (A)



72. a9 3HifhY deb H $d A€ g
(A) 8

(B) 12

(C) 14

(D) 10

total charts are in LibreOffice Calc.
(A)8

(B) 12

(C) 14

(D) 10

Ans. (D)

73. 3R Sexc SfdhT H qRd U SRIHR B & (o8 fopd Wi fafd
1 SUTNT foh T STl § 2

(A) SRCISNT
(B) qUt3MS

(C) TgUml
(D) 3TSTAUTTH

In Online Internet Banking, which payment method is used to
immediately transfer the money?

(A) RTGS
(B) UPI
(C) NEFT




(D) IMPS
Ans. (D)

74. forsl 31T Ager § qoic foRke Siig o fore Ay O 9 food ol &1
SUTNT fordT ST g |

(A) Ctrl + F12

(B) Ctrl+Shift+ F12
(C) F12

(D) Shift+F12

Which of the following key is used to add bullet list in LibreOffice writer.
(A) Ctrl + F12.

(B) Ctrl+Shift+ F12

(C) F12

(D) Shift+F12

Ans. (C)

75. forsl SiTfth e o URe WRTA ST o foT /e ol RTE 2
(A) Ctrl+Shift+A

(B) Ctrl+Shift+X

(C) Ctrl+Shift+V

(D) Ctrl+V

What is the shortcut key for Paste Special dialog in LibreOffice?
(A) Ctrl+Shift+A

(B) Ctrl + Shift +X



(C) Ctrl + Shift +V
(D) Ctrl+V
Ans. (C)

76. 3MRUAH UH___
(A) ST FiaY aTgeR
(B) Sc-ic Ay Ufgaer
(C) $eXT | YdT3s?
(D) $c3-c Uy Ufgaex

ISP is a

(A) Internet Service Provider
(B) Internet Service Predictor
(C) Internet Source Provider
(D) Internet Source Predictor
Ans. (A)

77. Alt + Page Down WiTge M § fAgfeiRad O ¥ g gura o fore g
ERISIGIE

(A) 3MTd Shde B! Ia- & fag

(B). fo1 e I@TT 3TeH TS TR &I
(C) fort wrss feam

(D) &I1gS WM A Ugell WS TR Sl




Alt+Page Down key is used for which of the following effect in Slide
Show?

(A) Play next effect

(B) Go to next slide without playing effects
(C) Show previous slide

(D)Jump to first slide in slide show

Ans. (B)

78. 3R Yol 718 SHT YoM a1 & Ye aiad § 761 § iR 7 & iR &
gaio | § Pl gl Tgl fadhed g -

(A) gTUE T

(B) I ST H

(C) 3M13c didg |

(D) 379 I PIx el

If send email is not in sender sent-box nor in the inbox of receiver then
where be? Choose the correct option

(A) In Draft

(B) In Sent-box

(C) In Outbox

(D) None of the above

Ans. (A)

79. ¢ bl Hger ¥ 781 ¢ <l 98 "g¢" I8! HR Tl
(A) PHIIRR



(B) TSR

(C) SRAFITR

(D) 3iTgefdT fed

If a computer does not have the it cannot "boot."
(A) Compiler

(B) Loader

(C) Assembler

(D) Operating system

Ans. (D)

80.%%%%@%@%%@61?@@?@%&1?%@@“%
ST & 2

(A) F1

(B) F3

(C) F7

(D) F8

Which of the following functions key is used to perform a spelling check?
(A) F1

(B) F3

(C) F7

(D) F8

Ans. (C)

81. I T T S5 el & 2



(A) HTsh g faT
(B) ITg
(c) fafewdifear

(D) T[T
Which one is not the search engine?

(A) Microsoft Bing

(B) Yahoo

(C) Wikipedia

(D) Google

Ans. (C)

82. ferel ofifthd ek H A Bl geA &1 YChHT o,
(A) Ctrl + C

(B) Ctrl + +

(C) Delete

(D) Ctrl +

shortcut key of deleting of the cell in LibreOffice Cale?
(A) Ctrl + C

(B) Ctrl + +

(C) Delete

(D) Ctrl +

Ans. (D)



83. forsl 3iTTth e 18 ¥ fohd WICWHIH TR BT HR Fobdll § 2
(A) fdeT

(B) ferTer

(C) 7P

(D) SWRIad Tt

Which of these platforms can LibreOffice work on? % ?
(A) Windows

(B) Linux

(C) Mac

(D) All of the above

Ans. (D)

84. forel Siffthy # fOiRyg @1 faded fha A A 8 2

(A) BIHC

(B) ¢

(OX

(D) PI% Tel

In which menu is the option of Thesaurus in LibreOffice?
(A) Format

(B) Tools

(C) View

(D) None



Ans. (B)

85. 3R. U. UH. BT U ©T T § ?
(NRUSEERRRERIN

(B) YSH TR AAI

(C) Y8 URY HARY

(D) SWRI | Y Pl g1

What is the full form of RAM ?
(A) Read Access Memory

B) Random Access Memory

(C) Red Access Memory

(D) None of the above

Ans. (B)

86. T3 TH. B QU ®U g :

(A) 3TYR 3dcS UHe I

(B) 3TYR TRIcs UHe Ried

(C) 3MMYR 3Hdcs UHC Rer

(D) 379 T P13 T8l

AEPS stands for :

(A) Aadhaar Enabled Payment Source

(B) Aadhaar Enrolled Payment System
(C) Aadhaar Enabled Payment System



(D) None of the above
Ans. (C)

87.1%15&#@5&?132@3&3%331%& ol DT ST fobar
EIGIC

(A) Ctrl+Y.
(B) Ctrl+Z
(C) Ctrl+X
(D) Ctrl + V

key is used for redo in LibreOffice Writer.

(A) Ctrl+Y

(B) Ctrl+z

(C) Ctrl+X

(D) Ctrl + V

Ans. (A)

88. DI I TR Hle YA Y SHAeHM SRI6R g B! SAId HRAT g ?
(A) 511

(B) 508

(C) 510

(D) 509

Which error code indicates the missing equals sign from the formula?
(A) 511

(B) 508



(C) 510
(D) 509
Ans. (D)

89. foIel 3HTfhY AZeR H THRiT Pl Aol B & [o18 Y Tl BT STTANT
fpaT ST 3 2

(A) Ctrl+N

(B) Ctrl, Shift+N

(C) Shift+O

(D) Ctrl + Shift + 0

Which key is used to manage the template in LibreOffice Writer?
(A) Ctrl + N

(B) Ctrl + Shift+N

(C) Shift+O

(D) Ctrl + Shift+0

Ans. (B)

90. ST T 82 Wa! fadhed T :
(A) Had U 99 U @

(B) I8 d9dISC U1 3¢ U g 9hdl g |
(C) U YUl deEse §
(D) T8 ¥ PIS el

What is blog ? Choose the correct option:



(A) Is a Web page only

(B) It can be Website or Web Page

(C) Is a complete Website

(D) None of the mentioned

Ans. (B)

91. ferTeRy 3MTuRfeT Rie @1 fa=ary:

(A) T8 U Ig-SUINThd! IR Rieed &
(B) I8 U A GRIA Siroxfe Rew &
(C) TE T IR SRt Rieed g

(D) SURIad gt

Features of the Linux operating system. :
(A) Itis a multi-user operating system

(B) Itis a highly secure operating system
(C) It is multitasking operating system

(D) All of the above

Ans. (D)

92. ol BT ITAIT forst 3M1Tthy X3ex | forT TRE% uRady &
A8 8 & fore faar oirar g

(A) Shift+Enter change.
(B) Ctrl+L
(C) Ctrl + Enter




(D) CtrlI+O

key is used for Line Break in LibreOffice Writer without
paragraph

(A) Shift+Enter

(B) Ctrl+L

(C) Ctrl + Enter

(D) Ctrl+O

Ans. (A)

93. forel ofifthy Xgex W O ST fohd YR &1 gl & 2
(A) Wice

(B) ¥ilks

(C) de%hy

(D) Oide 3R T8why aHl

Which is the type of page orientation in LibreOffice Writer?
(A) Portrait

(B) Slide

(C) Landscape

(D) Both Portrait & Landscape

Ans. (D)

94, "fefSraey & ddy o, Aufeifed § 4 o9 91/Q U 981 /e 2

. g fefored ST MMM & d8d IRBR gRI UKlidd U fsfoled didx
Rrer 8|




1. TG 3MUDT 3T $-SXIAST b Uge B SITHS ST & =1 319 fapdt off
R W T g

had |

(B) Bad |l

(C) | 3R Il g
(D) T dl AR ATET I

Regarding "DigiLocker", which of the following statements is/are correct?

It is a digital locker system offered by the Government under Digital India
Programme.

Il It allows you to access your e-documents irrespective of your physical
location.

(A) | only

(B) Il only

(C) Both I and I
(D) Neither I nor Il
Ans. (C)

o5 feorst 3ifthg A Tdl- SiferamiRin VST B S & dIc IdHM SISl &
Bq\ﬁ%gﬂ@ﬁfﬁam%ﬁim AR & ot forg Qicave ot ol SUANT fobd
AT g ?

(A) Shift+Ctrl+R
(B) Shift+Ctrl+X
(C) Shift+Ctrl+S
(D) Shift+R




Which shortcut key is used for restoring or refreshing the view of the

current document after changing the anti-aliasing settings in LibreOffice
?

(A) Shift+Ctrl+R

(B) Shift+Ctrl+X

(C) Shift+Ctrl+S

(D) Shift+R

Ans. (D)

96. TH.THAH. HI U w0 § :
(A Riva 9@ <ftiqa Uieiera
(B) iU B¢ raHR Uleldhld
() Riud Ad iU Weldia
(D) SWIed & T HIS gl

SMTP stands for:

(A) Simple Mail Terminal Protocol

(B) Simple Mail Transfer Protocol

(C) Simple Mail Transport Protocol

(D) None of the above

Ans.(B)

97. fordll TRT & HW & TS A R @ 2
(A) forett eme

(B) SIaR T




(C) 31U dre-

(D) SR eflg-

What is the line given above a text? (A) Leonerio
(A) Below line

(B) Over line

(C) Up line

(D) Upper line

Ans. (D)

98. USicRM H W5 s IR 97y AYIRd 4 o forw foberent SudNT fobam Sirem
g7

(A) freeia

(B) WSS CISHR

(C) W3S TS ey

(D) Xilgs ¢

Which is used to determine the timing on a slide in a presentation?
(A) Rehearsal

(B) Slide Timer

(C) Slide Timing Tool

(D) Slide Tool

Ans. (A)

99. SIAT T 3fcaHc BT SHUHAH HR T § ?
(A) 25 MB




(B) 25 TB

(C) 25 GB

(D) 25 KB

What is the max size of attachment in Gmail?
(A) 25 MB 976)

(B) 25 TB

(C) 25 GB

(D) 25 KB

Ans. (A)

100. ST AT Ud o T Ta! URey I

(A) abc@gmail.com

(B) abc@gmail-com

(C) abcgmail@com Vino

(D) 37 ¥ DS 51

Choose the correct format for Gmail-email address:

(A) abc@gmail.com

(B) abc@gmail-com
(C) abcgmail@com
(D) None of the above

Ans. (A)


mailto:abc@gmail.com
mailto:abc@gmail.com




